

Republic of the Philippines Bangsamoro Autonomous Region in Muslim Mindanao MINISTRY OF AGRICULTURE, FISHERIES, AND AGRARIAN REFORM



Bangsamoro Government Center, Gov. Gutierrez Ave., Rosary Heights VII, Cotabato City, 9600

REQUEST FOR SUBMISSION OF PRICE QUOTATION

RFQ No.: 019-09-2023-AFMS

Name of Project : Supply and Delivery of Construction Supplies

and Materials to be use for Painting of RFRC

Dormitory.

Location : Ministry of Agriculture, Fisheries, and Agrarian

Reform Regional Office (MAFAR-RO) Bangsamoro Autonomous Region in Muslim Mindanao, BARMM

Government Center, Cotabato City

Approved Budget : Php700,560.00

Description	Specification	Quantity	Unit Cost	ABC
•	Sun and Rain (white) 1-coat	45 Gallons	834.00	37,530.00
	Biofresh Minsheen Finish (white) 2-coats	200 Gallons	1,009.00	201,800.00
Construction Supplies and Materials	Concrete Primer & Latex sealer 1-coat	200 Gallons	818.00	163,600.00
	Elastomeric Putty (full putty) 2-coats	100 Gallons	825.00	82,500.00
	Elastomeric Paint (Water Proof & semi-gloss white) 2 coats	250 Gallons	850.00	212,500.00
	Sand paper (asstd) #150	40 Pcs	14.00	560.00
	Roller Brush 7" w/ rolling pan/pallet	6 Pcs.	192.00	1,152.00
	Roller brush w/ Rolling pan	6 Pcs.	132.00	792.00
	Paint Brush 2"	3 Pcs.	42.00	126.00
	TOTAL			700,560.00

PR # 2023-03-0083

GENERAL CONDITIONS

- 1. All entries may be typewritten/computerized and legible;
- 2. Bidders must submit the following documentary requirements for Small Value Procurement as required for under Section 53.9 of the IRR of R.A. 9184;
 - 2.1. Mayor's or Business Permit
 - 2.2. Professional License/Curriculum Vitae (for Consulting Services only)
 - 2.3.PhilGEPS Registration Number
 - 2.4.PCAB License (for Infrastructure only)
 - 2.5.Income/Business Tax Return (For ABCs above P500K)
 - 2.6.Omnibus Sworn Statement (Omnibus Sworn Statement for ABCs above P50K)
- 3. Place the quotation in a sealed envelope and type the following details on the dace of the envelope
 - 3.1.Company's Name
 - 3.2.RFQ Number
 - 3.3.PhilGEPS Reference Number
- 4. Delivery period must be at least Thirty (30) calendar days from the reciept of the PO
- 5. Items delivered must have warranties for unit replacement, parts, labor, or other services
- 6. Quoted price must be inclusive of taxes and other charges or fees and shall not exceed the ABC
- 7. Failure to omply with these conditions would mean disqualification of your submitted quotation.
- 8. Liquidated Damages (Sec. 68, RA 9184): All contracts executed in accordance with the Act and this IRR shall contain a provision on liquidated damages which shall be payable by the contractor in case of breach thereof. For the procurement of Goods, Infrastructure Projects, and Consulting Services, the amount of the liquidated damages shall be at least equal to one-tenth of one percent (0.001) of the cost of the unperformed portion for every day of delay. Once the cumulative amount of liquidated damages reaches ten percent (10%) of the amount of the contract, the Procuring Entity may rescind or terminated the contract, without prejudice to other courses of action and remedies available under the circumstances.

Deadline of submission and the opening of price quotation (Annex "A") and eligibility documents is on or before 3:00 o'clock in the afternoon of March 13, 2023 to the following address: Open submission, should be submitted manually at the address below.

DIR. ISMAIL A. GUIAMEL Chairperson

Bids and Awards Committee (BAC) Ministry of Agriculture, Fisheries and Agrarian Reform (MAFAR) BARMM Government Center, Cotabato City

Thru: ROWAIDA ZACARIA-KADO

Head, BAC Secretariat MAFAR-BARMM

1. For inquiry, you may contact the BAC Secretariat at contact Number 0936-2101127.

(Sgd) DIR. ISMAIL A. GUIAMEL BAC Chairperson

					A	nnex "A"
	P	RICE QUO	OTATION	FORM		
	Date					
	Date					
	OFFICE OF THE CH nd Awards Committee	IAIRMAN				
	ry of Agriculture, Fish	eries and A	orarian R	eform BARN	ЛM	
	IM Government Cente		_	erorini, <i>Bri</i> rch	,1141	
		-,				
Sir:						
After h	naving carefully read a	nd accepted	d the term	s and conditi	ons in the R	equest for
Quotat	ion, hereunder is our q	uotation/s 1	for the iten	n/s as follows	S:	•
No.	Item, Description and Specification	Quantity	Unit	ABC	FINANCIAL PROPOSAL	
					Unit Price	Total Price
1	Sun and Rain (white) 1-coat	45	Gallon	37,530.00	834.00	37,530.00
2	Biofresh Minsheen	-		-)		-)
	Finish (white) 2-coats	200	Gallon	201,800.00	1,009.00	201,800.00
3	Concrete Primer &					
	Latex sealer 1-coat	200	Gallon	163,600.00	818.00	163,600.00
4	Elastomeric Putty (full putty) 2-coats	100	Gallon	82,500.00	825.00	82,500.00
5	Elastomeric Paint	100	Ganon	82,300.00	023.00	82,300.00
J	(Water Proof & semi-	250	Gallon	212,500.00	850.00	212,500.00
	gloss white) 2 coats			,		,
6	Sand paper (asstd)					
	#150	40	Pcs	560.00	14.00	560.00
7	Roller Brush 7" w/					
	rolling pan/pallet	6	Pcs	1,152.00	192.00	1,152.00
8	Roller brush w/					
	Rolling pan	6	Pcs	792.00	132.00	792.00
9	Paint Brush 2"	3	Pcs	126.00	42.00	126.00
	GRAND TOTAL					700,560.00

The above-quoted prices are inclusive of all costs and applicable taxes.				
Printed Name and Signature of	_ Authorized			
Representative				
Name of the Company	_			
Company tax Identification No	_			
Contact Number	_			